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Time, Speed and Distance

33. Bibhas runs 100 meters in 20s and Aakash 33. W 20 %3 & 100 Hier Pzar # iR

runs the same distance in 25s . By what mzsﬁﬂim}ﬁmhj
distance will Bibhas beat Aakash in a ez #t drs A Rvre s @1 e @

hundred meter race ? qguIm?
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Time, Speed and Distance

34. In a 100m race A runs at 1.66m/s. If A
ﬁmlamdm:ndsﬁlbubhim ﬂﬁaM’lﬂﬁ@ﬁlmma

by 125, what is B's speed ? |- 6= \/"[/S A o orgufa Am # SR R st @ 12
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Time, Speed and Distance

35. In a 500m race, the ratio of speed of two  35. 500 HieY &t 3z # 3§ ugw Rww IR
runners Vijay and Sunil is 3:4. If Vijay has gite @ nfa ®1 sura 3.4 81 ol Reg

a start of 140m then Vijay wins by.... 1wﬁauﬁﬂmﬂwm
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Time, Speed and Distance

36. X, Y and Z are three contestants in a race 36. % ¥R (1000) #iex #1 33 # x, v 3R 2
of 1000 m. Assume that all run with @ ufaarft 1 o difte & & oft Rfim
different uniform speeds. X gives Y astart TS nfagl | sd T1 v, x | 40 Hiew
of 0 mand X gives Zastartof 64 m. If Y 3T & g1 &= 7 § o Z, X A 64 Hie?
and Z were to compete in a race of 1000 mamwmtnuﬁi_mfﬁ
m, how many meters would Y giveto Z ? 1oootﬁaﬂiﬁ*ﬂvﬁwvr=ﬂﬂ.a}z.v
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Time, Speed and Distance

of 30 meters , how far must be the
winning post, so that the race ends in a

dead heat ?
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a. 150m
b. 100m
c. 120m Sﬂ_—-:)%’
d. None of these SB [S
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